Filomat 39:6 (2025), 1813–1819 https://doi.org/10.2298/FIL2506813Z



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

On the weighted contraharmonic means

Ali Zamani^{a,b}

^aDepartment of Mathematics Education, Farhangian University, P. O. Box 14665-889, Tehran, Iran ^bSchool of Mathematics and Computer Sciences, Damghan University, P. O. Box 36715-364, Damghan, Iran

Abstract. Let \mathscr{A} be a unital C^* -algebra with unit e and let $v \in [0, 1]$. We introduce the concept of the v-weighted contraharmonic mean of two positive definite elements a and b of \mathscr{A} by

$$C_{\nu}(a,b) := 2((1-\nu)a + \nu b) - ((1-\nu)a^{-1} + \nu b^{-1})^{-1}$$

When $\nu \in (0, 1)$, we show that

 $C_{\nu}(a,b) = \max_{x+y=e} \left\{ 2(1-\nu)a - (1-\nu)^{-1}x^*ax + 2\nu b - \nu^{-1}y^*by \right\},\$

and then apply it to present some properties of this weighted mean.

1. Introduction and Preliminaries

The theory of (weighted) means for numbers is a classical and very well developed area in mathematical analysis (see, e.g., [6, Chapters II-III]). A mean of positive scalars α and β may be introduced in many different ways. One of the most important is a concept of the Gini–Beckenbach–Lehmer mean ([2, 4, 9]):

$$M_s(\alpha,\beta)=\frac{\alpha^s+\beta^s}{\alpha^{s-1}+\beta^{s-1}}.$$

Notice that the harmonic mean (*H*), geometric mean (*G*), arithmetic mean (*A*) and contraharmonic mean (*C*), which is frequently used in this paper, can be associated with this mean, respectively, by letting s = 0, $s = \frac{1}{2}$, s = 1 and s = 2. That is,

$$H(\alpha,\beta) = M_0(\alpha,\beta) = \frac{2\alpha\beta}{\alpha+\beta},$$

$$G(\alpha,\beta) = M_{\frac{1}{2}}(\alpha,\beta) = \sqrt{\alpha\beta},$$

$$A(\alpha,\beta) = M_1(\alpha,\beta) = \frac{\alpha+\beta}{2},$$

$$C(\alpha,\beta) = M_2(\alpha,\beta) = \frac{\alpha^2+\beta^2}{\alpha+\beta}$$

2020 Mathematics Subject Classification. Primary 46L05; Secondary 47A63, 47A64, 47B65. Keywords. C*-algebra, positive definite, contraharmonic mean, operator inequality. Received: 21 September 2024; Revised: 12 December 2024; Accepted: 08 January 2025 Communicated by Dragan S. Djordjević Email address: zamani.ali85@yahoo.com (Ali Zamani)

Email adaress: zaman1.al185@yanoo.com (Ali Zamani)

ORCID iD: https://orcid.org/0000-0002-9368-7328 (Ali Zamani)

Let \mathscr{A} be a C^* -algebra. An element a of \mathscr{A} is positive, in short $0 \le a$, if $a = b^*b$ for some $b \in \mathscr{A}$. If $0 \le a$, then we denote by $a^{1/2}$ the unique positive square root of a. If a and b are self-adjoint elements of \mathscr{A} such that $0 \le a - b$, we write $b \le a$. An element a of \mathscr{A} is also said to be positive definite if a is positive and invertible. Averaging operations are of interest in the context of von Neumann algebras and C^* -algebras as well, and various notions of (weighted) means of positive definite elements have been studied (see [3, 7, 8, 10] and the references therein).

Let $v \in [0, 1]$. For two positive definite elements *a* and *b* of \mathscr{A} the (*v*-weighted) harmonic mean H_v , (*v*-weighted) geometric mean G_v and (*v*-weighted) arithmetic mean A_v are defined by

$$H_{\nu}(a,b) = \left((1-\nu)a^{-1}+\nu b^{-1}\right)^{-1},$$

$$G_{\nu}(a,b) = a^{\frac{1}{2}} \left(a^{-\frac{1}{2}}ba^{-\frac{1}{2}}\right)^{\nu} a^{\frac{1}{2}},$$

$$A_{\nu}(a,b) = (1-\nu)a + \nu b.$$

In this note, inspired by the definition for the contraharmonic mean of matrices [1, 5], we introduce the concept of the ν -weighted contraharmonic mean in the setting of *C*^{*}-algebras. We investigate some properties of this weighted mean and prove inequalities involving it.

2. Results

As we have already mentioned, the contraharmonic mean of two positive scalars is defined by the formula

$$C(\alpha,\beta) = \frac{\alpha^2 + \beta^2}{\alpha + \beta}.$$

This may be rewritten as

$$C(\alpha,\beta) = 2A(\alpha,\beta) - H(\alpha,\beta).$$

This motivates the following definition.

Definition 2.1. Let \mathscr{A} be a unital C^* -algebra with unit e and let $v \in [0, 1]$. The v-weighted contraharmonic mean of two positive definite elements a and b of \mathscr{A} is defined by

 $C_{\nu}(a,b)=2A_{\nu}(a,b)-H_{\nu}(a,b).$

Remark 2.2. *In the sequel, a, b, c and d denote positive definite elements of a unital* C^* *-algebra* \mathscr{A} *with unit e. Also, from now on,* $v \in [0, 1]$ *, unless stated otherwise.*

Remark 2.3. The following properties of the weighted contraharmonic mean are obvious:

(*i*)
$$C_0(a, b) = a$$
, $C_1(a, b) = b$ and $C_v(a, a) = a$.

(*ii*)
$$C_{\nu}(a,b) = C_{1-\nu}(b,a)$$

- (*iii*) $C_{\nu}(\alpha e, \beta e) = C_{\nu}(\alpha, \beta)e$ for any $\alpha, \beta > 0$.
- (*iv*) $C_{\nu}(ra, rb) = rC_{\nu}(a, b)$ for any r > 0.

Remark 2.4. Obviously, $C_{\nu}(a, b) \leq 2A_{\nu}(a, b)$. It is also easy to see that

$$H_{\nu}\left(\left\|a^{-1}\right\|^{-1}, \left\|b^{-1}\right\|^{-1}\right)e \leq H_{\nu}(a, b).$$

Thus, by Definition 2.1, we have

$$C_{\nu}(a,b) \leq 2A_{\nu}(a,b) - H_{\nu}\left(\left\|a^{-1}\right\|^{-1}, \left\|b^{-1}\right\|^{-1}\right)e.$$

If α and β are two positive scalars, then the contraharmonic mean $C(\alpha, \beta)$ can be stated by the solution of the following variational problem:

$$C(\alpha,\beta) = \max_{s+t=1} \left\{ \alpha - 2\alpha s^2 + \beta - 2\beta t^2 \right\}.$$

Motivated by this expression for the contraharmonic mean of scalars, we establish the following theorem.

Theorem 2.5. *Let* $v \in (0, 1)$ *. Then*

$$C_{\nu}(a,b) = \max_{x+y=e} \left\{ 2(1-\nu)a - (1-\nu)^{-1}x^*ax + 2\nu b - \nu^{-1}y^*by \right\}.$$

Proof. Note first that, by direct computations we have

$$a(va + (1 - v)b)^{-1}b = H_{\nu}(a, b) = b(va + (1 - v)b)^{-1}a$$
(1)

and

$$v^{-1}(1-\nu)a^{-\frac{1}{2}}ba^{-\frac{1}{2}} - \left(e+\nu(1-\nu)^{-1}a^{\frac{1}{2}}b^{-1}a^{\frac{1}{2}}\right)^{-1} = \left(e+\nu^{-1}(1-\nu)a^{-\frac{1}{2}}ba^{-\frac{1}{2}}\right)^{-\frac{1}{2}}\left(\nu^{-1}(1-\nu)a^{-\frac{1}{2}}ba^{-\frac{1}{2}}\right)^{2}\left(e+\nu^{-1}(1-\nu)a^{-\frac{1}{2}}ba^{-\frac{1}{2}}\right)^{-\frac{1}{2}}.$$
(2)

Set $z = (1 - v)(va + (1 - v)b)^{-1}b$ and $w = v(va + (1 - v)b)^{-1}a$. Then z + w = e. By (1), we have

$$\begin{split} \max_{x+y=v} \left\{ 2(1-v)a - (1-v)^{-1}x^*ax + 2vb - v^{-1}y^*by \right\} \\ &\geq 2(1-v)a - (1-v)^{-1}z^*az + 2vb - v^{-1}w^*bw \\ &= 2(1-v)a - (1-v)b\left(va + (1-v)b\right)^{-1}a\left(va + (1-v)b\right)^{-1}b \\ &+ 2vb - va\left(va + (1-v)b\right)^{-1}b\left(va + (1-v)b\right)^{-1}a \\ &= 2\left((1-v)a + vb\right) - (1-v)b\left(va + (1-v)b\right)^{-1}H_v(a,b) \\ &- va\left(va + (1-v)b\right)^{-1}H_v(a,b) \\ &= 2A_v(a,b) - \left((1-v)b + va\right)\left(va + (1-v)b\right)^{-1}H_v(a,b) \\ &= 2A_v(a,b) - H_v(a,b) = C_v(a,b), \end{split}$$

and hence

$$C_{\nu}(a,b) \le \max_{x+y=e} \left\{ 2(1-\nu)a - (1-\nu)^{-1}x^*ax + 2\nu b - \nu^{-1}y^*by \right\}.$$
(3)

Now, suppose $x, y \in \mathscr{A}$ with x + y = e. Let us put

$$h := \left(e + \nu^{-1}(1-\nu)a^{-\frac{1}{2}}ba^{-\frac{1}{2}}\right)^{\frac{1}{2}}a^{\frac{1}{2}}xa^{-\frac{1}{2}} - \nu^{-1}(1-\nu)a^{-\frac{1}{2}}ba^{-\frac{1}{2}}\left(e + \nu^{-1}(1-\nu)a^{-\frac{1}{2}}ba^{-\frac{1}{2}}\right)^{-\frac{1}{2}}.$$

By exploiting (2) we have

$$\begin{split} a^{\frac{1}{2}} \left(e + v(1-v)^{-1}a^{\frac{1}{2}}b^{-1}a^{\frac{1}{2}} \right)^{-1}a^{\frac{1}{2}} + a^{\frac{1}{2}}h^{*}ha^{\frac{1}{2}} \\ &= a^{\frac{1}{2}} \left(e + v(1-v)^{-1}a^{\frac{1}{2}}b^{-1}a^{\frac{1}{2}} \right)^{-1}a^{\frac{1}{2}} + x^{*}a^{\frac{1}{2}} \left(e + v^{-1}(1-v)a^{-\frac{1}{2}}ba^{-\frac{1}{2}} \right)a^{\frac{1}{2}}x \\ &- x^{*}a^{\frac{1}{2}} \left(e + v^{-1}(1-v)a^{-\frac{1}{2}}ba^{-\frac{1}{2}} \right)^{\frac{1}{2}} \left(v^{-1}(1-v)a^{-\frac{1}{2}}ba^{-\frac{1}{2}} \right) \left(e + v^{-1}(1-v)a^{-\frac{1}{2}}ba^{-\frac{1}{2}} \right)^{-\frac{1}{2}}a^{\frac{1}{2}} \\ &- a^{\frac{1}{2}} \left(e + v^{-1}(1-v)a^{-\frac{1}{2}}ba^{-\frac{1}{2}} \right)^{-\frac{1}{2}} \left(v^{-1}(1-v)a^{-\frac{1}{2}}ba^{-\frac{1}{2}} \right) \left(e + v^{-1}(1-v)a^{-\frac{1}{2}}ba^{-\frac{1}{2}} \right)^{\frac{1}{2}}a^{\frac{1}{2}}x \\ &+ a^{\frac{1}{2}} \left(e + v^{-1}(1-v)a^{-\frac{1}{2}}ba^{-\frac{1}{2}} \right)^{-\frac{1}{2}} \left(v^{-1}(1-v)a^{-\frac{1}{2}}ba^{-\frac{1}{2}} \right)^{2} \left(e + v^{-1}(1-v)a^{-\frac{1}{2}}ba^{-\frac{1}{2}} \right)^{-\frac{1}{2}}a^{\frac{1}{2}} \\ &= a^{\frac{1}{2}} \left(e + v(1-v)^{-1}a^{\frac{1}{2}}b^{-1}a^{\frac{1}{2}} \right)^{-1}a^{\frac{1}{2}} + x^{*}ax \\ &+ a^{\frac{1}{2}} \left(e - a^{-\frac{1}{2}}x^{*}a^{\frac{1}{2}} \right) \left(v^{-1}(1-v)a^{-\frac{1}{2}}ba^{-\frac{1}{2}} \right) \left(e - a^{\frac{1}{2}}xa^{-\frac{1}{2}} \right)a^{\frac{1}{2}} - v^{-1}(1-v)b \\ &+ a^{\frac{1}{2}} \left(e + v(1-v)^{-1}a^{\frac{1}{2}}b^{-1}a^{\frac{1}{2}} \right)^{-\frac{1}{2}} \left(v^{-1}(1-v)a^{-\frac{1}{2}}ba^{-\frac{1}{2}} \right)^{2} \left(e + v^{-1}(1-v)a^{-\frac{1}{2}}ba^{-\frac{1}{2}} \right)^{-\frac{1}{2}}a^{\frac{1}{2}} \\ &= a^{\frac{1}{2}} \left(e + v(1-v)^{-1}a^{\frac{1}{2}}b^{-1}a^{\frac{1}{2}} \right)^{-\frac{1}{2}} \left(v^{-1}(1-v)a^{-\frac{1}{2}}ba^{-\frac{1}{2}} \right)^{2} \left(e + v^{-1}(1-v)a^{-\frac{1}{2}}ba^{-\frac{1}{2}} \right)^{-\frac{1}{2}}a^{\frac{1}{2}} \\ &= a^{\frac{1}{2}} \left(e + v(1-v)^{-1}a^{\frac{1}{2}}b^{-1}a^{\frac{1}{2}} \right)^{-\frac{1}{2}}a^{\frac{1}{2}} + x^{*}ax \\ &+ a^{\frac{1}{2}} \left(a^{-\frac{1}{2}}y^{*}a^{\frac{1}{2}} \right) \left(v^{-1}(1-v)a^{-\frac{1}{2}}ba^{-\frac{1}{2}} \right) \left(a^{\frac{1}{2}}ya^{-\frac{1}{2}} \right)a^{\frac{1}{2}} - v^{-1}(1-v)b \\ &+ v^{-1}(1-v)b - a^{\frac{1}{2}} \left(e + v(1-v)^{-1}a^{\frac{1}{2}}b^{-1}a^{\frac{1}{2}} \right)^{-1}a^{\frac{1}{2}} \\ &= x^{*}ax + v^{-1}(1-v)b^{*}yby, \end{split}$$

and wherefrom

$$a^{\frac{1}{2}} \left(e + \nu(1-\nu)^{-1} a^{\frac{1}{2}} b^{-1} a^{\frac{1}{2}} \right)^{-1} a^{\frac{1}{2}} + a^{\frac{1}{2}} h^* h a^{\frac{1}{2}} = x^* a x + \nu^{-1} (1-\nu) y^* b y.$$

This implies

$$(1-\nu)^{-1}a^{\frac{1}{2}}h^*ha^{\frac{1}{2}} = (1-\nu)^{-1}x^*ax + \nu^{-1}y^*by - (1-\nu)^{-1}a^{\frac{1}{2}}\left(e + \nu(1-\nu)^{-1}a^{\frac{1}{2}}b^{-1}a^{\frac{1}{2}}\right)^{-1}a^{\frac{1}{2}}.$$
(4)

Since $0 \le (1 - \nu)^{-1} a^{\frac{1}{2}} h^* h a^{\frac{1}{2}}$, by (4) we obtain

$$2(1-\nu)a - (1-\nu)^{-1}x^*ax + 2\nu b - \nu^{-1}y^*by$$

$$\leq 2(1-\nu)a - (1-\nu)^{-1}x^*ax + 2\nu b - \nu^{-1}y^*by + (1-\nu)^{-1}a^{\frac{1}{2}}h^*ha^{\frac{1}{2}}$$

$$= 2A_{\nu}(a,b) - (1-\nu)^{-1}a^{\frac{1}{2}}\left(e + \nu(1-\nu)^{-1}a^{\frac{1}{2}}b^{-1}a^{\frac{1}{2}}\right)^{-1}a^{\frac{1}{2}}$$

$$= 2A_{\nu}(a,b) - \left((1-\nu)a^{-1} + \nu b^{-1}\right)^{-1}$$

$$= 2A_{\nu}(a,b) - H_{\nu}(a,b) = C_{\nu}(a,b),$$

and so

$$2(1-\nu)a - (1-\nu)^{-1}x^*ax + 2\nu b - \nu^{-1}y^*by \le C_{\nu}(a,b) \qquad (x+y=e).$$
(5)

It follows from (5) that

$$\max_{x+y=e} \left\{ 2(1-\nu)a - (1-\nu)^{-1}x^*ax + 2\nu b - \nu^{-1}y^*by \right\} \le C_{\nu}(a,b).$$
(6)

Now, by (3) and (6), we deduce the desired result. \Box

As a consequence of Theorem 2.5, we have the following result.

Corollary 2.6. Let p be a projection in \mathscr{A} . Then

 $C_{\nu}(a,b) \leq 2A_{\nu}(a,b) - (1-\nu)^{-1}pap - \nu^{-1}(e-p)b(e-p).$

Proof. This follows immediately form Theorem 2.5 by setting x = p and y = e - p. \Box

Remark 2.7. Setting *b* = *a* the inequality in Corollary 2.6 reduces to the familiar inequality

$$(1-\nu)^{-1}pap + \nu^{-1}(e-p)a(e-p) \le a.$$

Here, we use Theorem 2.5 to obtain operator inequalities.

Corollary 2.8. Let $\mu \in [0, 1]$. Then

$$C_{\nu}(A_{\mu}(a,b),A_{\mu}(c,d)) \leq A_{\mu}(C_{\nu}(a,c),C_{\nu}(b,d)).$$

Proof. We may assume that $v \in (0, 1)$ otherwise, by Remark 2.3(i), the desired inequality trivially holds. Let x + y = e. By Theorem 2.5 we have

$$\begin{aligned} A_{\mu} \Big(C_{\nu}(a,c), C_{\nu}(b,d) \Big) &= (1-\mu) C_{\nu}(a,c) + \mu C_{\nu}(b,d) \\ &\geq (1-\mu) \Big(2(1-\nu)a - (1-\nu)^{-1}x^*ax + 2\nu c - \nu^{-1}y^*cy \Big) \\ &+ \mu \Big(2(1-\nu)b - (1-\nu)^{-1}x^*bx + 2\nu d - \nu^{-1}y^*dy \Big) \\ &= 2(1-\nu) \Big((1-\mu)a + \mu b \Big) - (1-\nu)^{-1}x^* \Big((1-\mu)a + \mu b \Big) x \\ &+ 2\nu \Big((1-\mu)c + \mu d \Big) - \nu^{-1}y^* \Big((1-\mu)c + \mu d \Big) y \end{aligned}$$

and hence

$$2(1-\nu)A_{\mu}(a,b) - (1-\nu)^{-1}x^{*}A_{\mu}(a,b)x + 2\nu A_{\mu}(c,d) - \nu^{-1}y^{*}A_{\mu}(c,d)y \le A_{\mu}(C_{\nu}(a,c),C_{\nu}(b,d))$$

Thus,

$$\max_{x+y=e} \left\{ 2(1-\nu)A_{\mu}(a,b) - (1-\nu)^{-1}x^{*}A_{\mu}(a,b)x + 2\nu A_{\mu}(c,d) - \nu^{-1}y^{*}A_{\mu}(c,d)y \right\} \leq A_{\mu} \Big(C_{\nu}(a,c), C_{\nu}(b,d) \Big).$$

Now, from Theorem 2.5 we obtain $C_{\nu}(A_{\mu}(a, b), A_{\mu}(c, d)) \leq A_{\mu}(C_{\nu}(a, c), C_{\nu}(b, d))$. \Box

Remark 2.9. Let $\mu \in [0, 1]$. By Corollary 2.8 we have

$$C_{\nu}(A_{\mu}(a,a),A_{\mu}(a,b)) \leq A_{\mu}(C_{\nu}(a,a),C_{\nu}(a,b)).$$

$$\tag{7}$$

Since $A_{\mu}(a, a) = C_{\nu}(a, a) = a$, from (7) it follows that

$$C_{\nu}(a, A_{\mu}(a, b)) \leq A_{\mu}(a, C_{\nu}(a, b)).$$

Another consequence of Theorem 2.5 can be stated as follows.

Corollary 2.10. Let z be an invertible element of \mathscr{A} . Then

$$C_{\nu}(z^*az, z^*bz) = z^*C_{\nu}(a, b)z.$$

Proof. Since by Remark 2.3(i) the desired identity trivially holds when v = 0 and v = 1, we may assume that $v \in (0, 1)$. Let x + y = e. Put $x_0 = zxz^{-1}$ and $y_0 = zyz^{-1}$. Then $x_0 + y_0 = e$. So, by Theorem 2.5, we have

$$z^*C_{\nu}(a,b)z = z^* \left(\max_{x+y=e} \left\{ 2(1-\nu)a - (1-\nu)^{-1}x^*ax + 2\nu b - \nu^{-1}y^*by \right\} \right) z$$

$$\geq z^* \left(2(1-\nu)a - (1-\nu)^{-1}x^*_{_0}ax_{_0} + 2\nu b - \nu^{-1}y^*_{_0}by_{_0} \right) z$$

$$= 2(1-\nu)(z^*az) - (1-\nu)^{-1}x^*(z^*az)x + 2\nu(z^*bz) - \nu^{-1}y^*(z^*bz)y,$$

and so

$$2(1-\nu)(z^*az) - (1-\nu)^{-1}x^*(z^*az)x + 2\nu(z^*bz) - \nu^{-1}y^*(z^*bz)y \le z^*C_{\nu}(a,b)z.$$

Therefore,

$$\max_{x+y=e} \left\{ 2(1-\nu)(z^*az) - (1-\nu)^{-1}x^*(z^*az)x + 2\nu(z^*bz) - \nu^{-1}y^*(z^*bz)y \right\} \le z^*C_{\nu}(a,b)z.$$

Now, by Theorem 2.5, we conclude that $C_{\nu}(z^*az, z^*bz) \le z^*C_{\nu}(a, b)z$. By a similar argument, we get $z^*C_{\nu}(a, b)z \le C_{\nu}(z^*az, z^*bz)$ and the proof is completed. \Box

Our next assertion is interesting on its own right.

Corollary 2.11. There exists a contraction z in \mathscr{A} such that

$$A_{\nu}(a,b) = z^* C_{\nu}(a,b) z.$$

Proof. Let $v \in (0, 1)$. Since (1 - v)e + ve = e, by Theorem 2.5, we have

$$C_{\nu}(a,b) \ge 2(1-\nu)a - (1-\nu)^{-1} ((1-\nu)e)^* a ((1-\nu)e) + 2\nu b - \nu^{-1} (\nu e)^* b (\nu e)$$

= 2(1-\nu)a - (1-\nu)a + 2\nu b - \nu b = A_{\nu}(a,b),

and so

$$A_{\nu}(a,b) \leq C_{\nu}(a,b).$$

(8)

By Remark 2.3(i), the inequality (8) holds trivially for $\nu = 0$ and $\nu = 1$. Put

$$z := (C_{\nu}(a,b))^{-\frac{1}{2}} (A_{\nu}(a,b))^{\frac{1}{2}}.$$

From (8) it follows that

 $z^*z = (A_{\nu}(a,b))^{\frac{1}{2}} (C_{\nu}(a,b))^{-1} (A_{\nu}(a,b))^{\frac{1}{2}} \le e,$

and hence *z* is a contraction. It is also easy to check that $z^*C_{\nu}(a, b)z = A_{\nu}(a, b)$. \Box

Finally, we state an inequality for non-zero positive linear functionals.

Corollary 2.12. Let φ be a non-zero positive linear functional on \mathscr{A} . Then

 $C_{\nu}(\varphi(a),\varphi(b)) \leq \varphi(C_{\nu}(a,b)).$

Proof. We may assume that $v \in (0, 1)$ otherwise, by Remark 2.3(i), the desired inequality trivially holds. Set $x_0 = \frac{(1-v)\varphi(b)}{\varphi(va+(1-v)b)}e$ and $y_0 = \frac{v\varphi(a)}{\varphi(va+(1-v)b)}e$. Then $x_0 + y_0 = e$. Hence, by Theorem 2.5, we have

$$\begin{split} \varphi \Big(C_{\nu}(a,b) \Big) &= \varphi \left(\max_{x+y=e} \Big\{ 2(1-\nu)a - (1-\nu)^{-1}x^*ax + 2\nu b - \nu^{-1}y^*by \Big\} \Big) \\ &\ge \varphi \Big(2(1-\nu)a - (1-\nu)^{-1}x^*_0ax_0 + 2\nu b - \nu^{-1}y^*_0by_0 \Big) \\ &= 2\Big((1-\nu)\varphi(a) + \nu\varphi(b) \Big) - \left(\frac{(1-\nu)\varphi^2(b)\varphi(a)}{\varphi^2(\nu a + (1-\nu)b)} + \frac{\nu\varphi^2(a)\varphi(b)}{\varphi^2(\nu a + (1-\nu)b)} \right) \\ &= 2A_{\nu}\Big(\varphi(a),\varphi(b)\Big) - \frac{\varphi(a)\varphi(b)}{\varphi(\nu a + (1-\nu)b)} \\ &= 2A_{\nu}\Big(\varphi(a),\varphi(b)\Big) - H_{\nu}\Big(\varphi(a),\varphi(b)\Big) = C_{\nu}\Big(\varphi(a),\varphi(b)\Big). \end{split}$$

Acknowledgement. The author expresses his gratitude to the referee for his/hers comments towards an improved final version of the paper.

References

- W. N. Anderson Jr., M. E. Mays, T. D. Morley and G. E. Trapp, *The contraharmonic mean of hermitian semidefinite matrices*, SIAM J. Algebra Discrete Methods, 8 (1987), no. 4, 674–682.
- [2] E. F. Beckenbach, A class of mean value functions, Amer. Math. Monthly, 57 (1950), 1-6.
- [3] Y. Bedrani, F. Kittaneh and M. Sababheh, On the weighted geometric mean of accretive matrices, Ann. Funct. Anal. 12, 2 (2021).
- [4] C. Gini, Di unaformula comprensiva delle medie, Metron, 13 (1938), 3–22.
- [5] W. L. Green and T. D. Morley, Four variational formulations of the contraharmonic mean of operators, SIAM J. Algebra Discrete Methods, 8 (1987), no. 4, 670–673.
- [6] G. H. Hardy, J. E. Littlewood and G. Pólya, Inequalities, Reprint of the 1952 edition, Cambridge Math-ematical Library, Cambridge University Press, Cambridge, 1988.
- [7] O. Hirzallah and F. Kittaneh, Norm inequalities for weighted power means of operators, Linear Algebra Appl. 341 (2002), 181-193.
- [8] F. Kubo and T. Ando, Means of positive linear operators, Math. Ann. 246 (1980), 205-224.
- [9] D. H. Lehmer, On the compounding of certain means, J. Math. Anal. Appl. 36 (1971), 183-200.
- [10] L. Molnár, *The arithmetic, geometric and harmonic means in operator algebras and transformations among them*, In: Botelho, F., King, R., Rao, T.S.S.R.K. (eds.) Problems and Recent Methods in Operator Theory. Contemporary Mathematics, vol. 687, pp. 193–207. American Mathematical Society, Providence (2017).